
H2/O2 Reaction Mechanism (unit: cm3, mol, s, kJ, K) 

 Reaction 𝐴 𝑛 𝐸𝑎 
1 H + O2 = O + OH 2.0 × 1014 0.0 70.3 
2 H2 + O = OH + H 5.06 × 104 2.67 26.3 
3 H2 + OH = H2O + H 1.0 × 108 1.6 13.8 
4 OH + OH = H2O + O 1.5 × 109 1.14 0.42 
5 H + H + M = H2 + M 1.8 × 1018 −1.0 0.0 
6 H + OH + M = H2O + M 2.2 × 1014 −2.0 0.0 
7 O + O + M = O2 + M 2.9 × 1017 −1.0 0.0 
8 H + O2 + M = HO2 + M 2.3 × 1018 −0.8 0.0 
9 HO2 + H = OH + OH 1.5 × 1014 0.0 4.2 
10 HO2 + H = H2 + O2 2.5 × 1013 0.0 2.9 
11 HO2 + H = H2O + O 3.0 × 1013 0.0 7.2 
12 HO2 + O = OH + O2 1.8 × 1013 0.0 −1.7 
13 HO2 + OH = H2O + O2 6.0 × 1013 0.0 0.0 
14 HO2 + HO2  H2O2 + O2 2.5 × 1011 0.0 −5.2 
15 OH + OH + M = H2O2 + M 3.25 × 1022 −2.0 0.0 
16 H2O2 + H = H2 + HO2 1.7 × 1012 0.0 15.7 
17 H2O2 + H = H2O + OH 1.0 × 1013 0.0 15.0 
18 H2O2 + O = OH + HO2 2.8 × 1013 0.0 26.8 
19 H2O2 + OH = H2O + HO2 5.4 × 1012 0.0 4.2 
 

Efficiency factors are H2=1.0; O2=0.25; H2O=6.5 
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Thermodynamic database 

 

 

 

 

 

 

 


